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6 UUOoooon

00000000. 000 F(r) = (F(r), B(r),Kr) 00000000 ¢ 000
ooboooooO, FOOODODDOOO wWOoboObhooooO. oobobo cooo
r=(z,y,2) 00 r+dr =(x+dr,y+dy,2+dz) DOOO0O0O0OODOOOO FO
ooo00o0o0 dvV O, F(r)00000 dr0000000:

dW = F(r) - dr = Fi(r)dz + Fy(r)dy + F3(r)dz.

gbogbuoobooboobooo wooo,

W:/CdW:/CF('r)-dr

ggbooogoon.

00 1.00 mOOO0OO0OOOO F(r)0OODODOOO000,0000000¢000
Or=r@¢)00000000000.000,r() 000000

d*r(t)
e
000.0000000 t=400t=t6(h<t) 000000 CO0O00,

/ F(r) -dr = %m’v(tz)2 — 1m’v(tl)2
c

F(r)=

2

0000000000.000,v(),v)200000

v@)::dzg), w(t)? = v(t) - v(t)

goooo.

gboo0 FOLOOOODOODOODOODODOODOODDbDOODOODLOOn
gobooo.

good. oob FOOOODODOODOD VUODLOOO F=—-—gradV OOOOODO, F
gbooobdgoob,vo FrOOobOooboobo.

oo 2. vooooooobooboob FOOOODOODOOODOODDOOO
gaon

E:%mmw+vw@)

00oo0o0ooooo. (booooooopooooog.)



00 6.1 (1)3000000000
F(z,y,2) = (—kx,—ky, —kz)

(k’DDDDD)DDD,DDDDDDDDDDDDDD.
(2)000
Fr)=-5

S, v =il

(¢00000)000,000000000
Cc
Vir)=—-
(r)=-=
00000000000,

00 3. VOOOOODODOOOO0O000 FOOOOOOOOOOOOOOO ¢t0
000 r=r()00000000000. 000 ¢t=400 t=t, (1 <t,) 000
000 CcO00000,00000000000000.

/CF('r) ~dr =V (r(ty)) — V(r(ta)).

gogobo,bbouogoooobbobbuoooogobobobbouooooobboobo
gogooobogg.

00 6.2 kOO0OOODOO,00000
F(z,y,z) = (—kx,—ky,—k=z)

good. oo
C:(z,y,2) = (tcost,tsint,t?), 0<t<n

/CF('r) -dr

gogboo,odd

gogbooo.



